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CPF-2253
M.Com. (Final) Examination, 2022

ACCOUNTANCY AND BUSINESS STATISTICS

Paper - VIII
(Advanced Costing Problem)

Time : 3 Hours | [ Maximum Marks : 100
Section—-A (Marks : 2 x 10 = 20)
Note .— Answer all fen questions (Answer limit 50 words). Each question carries

Note —

M —

2 marks.

(@us—3) (3% : 2 x 10 = 20)
Tt T/ e & S ST (SW-EE 50 I8) | Wi WY 2 3 T §|
Section-B (Marks : 8 x 5 = 40)

Answer any five questions out of seven (Answer limit 200 words). Each
question carries 8 marks.

(Tus-9) (37 : 8 x 5 = 40)
T # 9 R Ui T & SW SIS (SW-EE 200 9E) | TS Y9 8 SR
H T

Section—C (Marks : 20 x 2 = 40)
Answer any two questions out of four (Answer limit 500 words). Each
question carries 20 marks.

(@us—a) (37 : 20 x 2 = 40)
;Rﬁﬁﬁ?ﬁﬂ’fﬁ@ﬁiaﬁq (SR-H 500 T3 | Tk T 20 % H

|
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(i)

(iii)

(iv)

v)

(vi)

(vii)

(viii)

(ix)

x)

Section—-A
(TUs-3)
How BEP can be improved ?
go-fome fog § guR fF9 y&R 9 fen <1 whar © 2
What are Cost Records ?
T SR F ¥ 2
What do you understand by Idle Facility ?
fafera wrlemd ¥ o9 F gEed ¥ 2
What is the definition of Data Processing ?
T faftea =+t aRumn fafe )
What is Differential Costing 7 Explain.
YSTcAF URSTATHT N & 7 THSART |
Define Marketing Costs.
foqu @RI Rt R S
What is the difference between Waste and Scrap ?
&9 TE S9N H o ST ® ?

“Change is not always Profitable.” Comment on this statement.

“gftadd e aYYg TRl B ©1” TH U & SN i
What do you understand by Cost Reduction ?
AN AR § AT T TR © 7
What do you mean by Research Costs ?
Iy ARG 9 ST 1 FHEd 7
Section-B
(Tus-)

From the following informations you are required to find out whether capacity
should by expanded or not :
=1 gemelt & a7 @ wifve fF soed smar § fawr & sfea § o e

Existing Situation after
Situation Expansion
®) ()
Sales 20,000 24,000
Direct Materials Costs 3,000 3,600
Direct Labour Costs 4,000 4,400
Overhead Costs 3,000 3,200
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3. Distinguish between Differential Costing and Marginal Costing.
faderaes T ey qe 9iE ST e § SRR it |

4.  What are the advantages and limitations of Punch Card System ?
fofsa o Tsfa & o9 @ e F=-Fn ¥ 2

5. From the following particulars, calculate the selling price per Unit :

= foeo & 9fd s fasra 7o &1 o1 i

(1) Production Cost Variable Cost per Unit % 2.00
Fixed Cost per Unit % 80,000
(i)  Capital Employed Working Capital % 1,00,000
Fixed Assets T 2,00,000
(ii1)) Budgeted Output 10,000 Units

Desired profit is 30% on Capital.
TgE ISt W Aifed @ 30% |

6. The ratio of variable cost to sales is 60%. The break-even point occurs at 80% of
sales and fixed cost are ¥ 2,00,000. Find sales capacity and the sales at break-even
point. Also, determine profit at 90% sales capacity.
fosrar W aftedefiar AFTdl w1 ST 60% 1 end-AEn fog 80% fasar TR W ey
T & T TR AT < 2,00,000 ¥ 1 foema aman aen wna-Ann fag W fawa 3@ s
forsra &1 90% &HaT W Y [ HIFST |

7.  What is the difference between Cost Control, Productivity and Cost Reduction ?
AN T, ST TS AR AR § O SRR § 2

8.  Calculate Activity Ratio, Efficiency Ratio and Capacity Ratio from the following
figures :
frefaea a9 ¥ fRamiea ST, $eed ST Ud wEeHdl STad &1 oM

FHITT

Budgeted Production 160 Units
Actual Production 150 Units
Standard Time per Unit 10 Hours
Actual Hours Worked 1,200 Hours
Section—C
(@e-w)

9. The following details are available for a company for year 2021 :
T w6 faw oo 2021 & gay # fefafed faero sqass € .
Sales (3) Total Cost (%)
First 6 months 4,05,000 3,60,000
Last 6 months 4,50,000 3,87,000
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10.

11.

12.
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Calculate the following year 2021 assuming that fixed expenses are incurred
uniformly throughout the year :

(1) Profit Volume Ratio (i)  Fixed expenses

(ii1)) Break-even Sales (iv)  Margin of Safety

g I U T v 7dq fer =@ 9aF w9 9 =99 {63 9. ¥, 99 2021 & fog f=
w1 IREe HIfST

(i)  NY-HE SO (i) TR @

(iii) wm-fa=x fowa (iv) Gam-d

What type of decisions can be included under Changes v/s Status quo?
Explain.

‘aRade sAm warqd frafa’ & sifa fFw R & fof wfmfaa 73 s 9ea § 2
HHART

The Anita calculators currently sales three lines of calculators. It is considering
dropping ‘B’ line of calculators and adding two move lines. From the data
given, decide whether or not it should make this change ?

i Sereied IdEH § A TER B deherd w1 fw Hw $13 A St @ derei
H I A A ST T FER & hogeed w GiEfad R R TR W W@ T @
T el ¥ Hee ST I8 URads s =nfen steen et ?

Type Selling Price Variable Cost Sales
9] per Unit (%) )
A 100 60 3,00,000
B 160 120 1,00,000
C 200 120 6,00,000
Fixed Cost 3,00,000
Expected sales if ‘B’ is replaced with ‘D’ and ‘E’ :
Type Selling Price Variable Cost Sales
(€9 per Unit (%) ®
A 100 60 2,50,000
C 200 120 6,00,000
D 160 80 1,00,000
E 60 30 50,000

Distinguish between ‘Spoilage’, ‘Defective’ waste and Scrap. How are they
treated in Cost Accounts ?

foga, 3o &= IR oTa¥e § SR Ay | AN orell § g oren fRE YR feRar S
T2




